&o\“
Set No. : 1 Question Booklet No.

RET/16/TEST-B 642 | Medicine

Roll No.

{To be filled up by the candidate by blue/black ball point pen)

Roll No. (Write the digits in WOrdS) ......oooiiviiiiiinis i s e

Serial No. of OMR ADswer Sheet ..o e e S—
DAy Al IETE v mussisuismsnsmiussimesm e b s s yas s

( Signature of Invigilator }

INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1.

10.

.
12.
13
14.

Within 30 minutes of the issue of the Question Booklet, Please ensure that you have got the correct
booklet and it contains all the pages in correct sequence and no page/question is missing. In case of faulty
Question Booklet, Bring il to the notice of the Superintendent/Invigilators immediately to obtain a fesh
Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet

shall not be provided.
Write your Rol]l Number and Serial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at the
top, and by darkening the circles at the bottom. Also, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheer and Roll No. and OMR sheet no. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

This Booklet contains 40 multiple cloice questions followed by 10 short answer questions. For
cach MCQ, you are to record the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given
on the first page of the Answer Sheet. For answering any five short Answer Questions use five
Blank pages attached at the end of this Question Boaklet.

For each question, darken only one circle on the Answer Sheet. If you darken more than one circle or
darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero marks).
For rough work, use the inner back pages of the title cover and the blank page at the end of this Booklet.
Depasit both OMR Answer Sheet and Question Booklet at the end of the Test.

You are not permitted 1o leave the Examination Hall until the end ol the Test.

If a candidate attempts to use any form of unfair means, he/she shall be tiable to such punishment as the

University may determine and impose on him/her.

Total No. of Printed Pages: 20



RET/16/TEST-B 642 /Medicine

ROUGH WORK
% &y



Research Entrance Test-2016

No. of Questions : 50

TE i W : 50
Time : 2 Hours Full Marks : 200
w2 qud quriE : 200
Note: (1)  This Question Booklet contains 40 Multiple Choice Questions
foliowed by 10 Short Answer Questions.
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(2) Attempt as many MCQs as you can. Each MCQ carries 3

3)

(Three) marks. 1 (One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.
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Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five} pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.
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01. Which of the following is not synthesized in postganglionic

sympathetice neuron ?
(1) L-DOPA (2) Dopamine

{3} Norepmephrine (4) Epinnephrine

02. Which of the following drug is a tranquilizer ?

(1) LSD (2) Atropine
(31  Lithium (4) Chlorpromazine

03. Ilysterectomy is the removal of ?
(1) Kindly (2) Uterus

(3} Ovary (4) Testis

04. Which of the following is not essential for normal biosynthesis of

thyroid hormeone ;
(1) Todine (2) ferritin

(3] Thyroglobulin (4) TSH

05. Select the best statement for Lymphovtes -
{1) are unaffected by hormones
(2} all eriginate from the bone marrow
(3} are part of the body's defense against cancer

{4) convert te monocytes In response to antigense
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06.

Basic principle involved in the doctors thermometer (mercury

thermomeier) 1s :

(1) Thermal expansion of liquid

(2) Thermal expansion of gas above the liquid in the thermometer
(3) Capillary action

(4) None pf the above

07. The compound which serves as antioxidant in living systems and plays

08.

09.

a key role in detoxification 1s :
(1) glutathione (2) glutamate

(3) proline (4) tetrahydrofolate

Which of the following vitamins regulates Ca*" metabolism ?
(1) Vitamin A (2) Thiamine

(3) Ascorbic acid {(4) Vitamin D

An example of antioxidant enzyme is :
(1} Superoxide dismutase

(2) Choline oxidase

(3) Phenylalanine ammonia lyase

(4) Alcohol dehydrogenase

5 P.T.O.
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10. The organ of the body mainly damaged in hepatitis is :

11.

12.

13.

14

15.

(1) Heart (2) Liver

{3) Kidney (4) Eye

Leishmania donovani is transmitted by :
(1) Sand fly (2) Tse-tse fly

{3) Anopheles mosquito (4] Culex mosquito

The following are vector borne disease except :

(1) Malaria (2) Dengue

(3) Typhoid (4) Japanese encephalitis

The maximum amount of electrolytes and water (70-80%) from the
glomerular infiltrate is resbsorbed from which part of nephron :

(1) Promximal convoluted tubule (2} Dewscending loop of Henle

{(3) Ascending loop of Henle (4] Distal convoluted tubule

Tendons connects :
(1} Bone to Muscle (2) Bone to vertebralcolumn

(3}  Bone to bone (4) Bone to cartilage

Which one of the following statcment is NOT correct regarding trachea ?
(1) Lies posterior to esophagus

%
(3] Opening to the trachea is covered by epiglottis.

( <]

s

|1t splits into the right and left brondhi

- Trachcal rings arc C-shaped

o
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16.

17,

18.

19.

20.

Inner surface of the bronchi, bronchioles and fallopian tubes are lined

by :

(1) Cubical epithelium (2) Columnar epithelium

{3} Sguamous epithelium (4) Ciliated epithelium

Which one is the cofactor of carbonic anhydrase ?

(1) Cu (2) Zn (3) Fe (4) Mg

Bile's contribution to digestion is :
(1} Nucleic acid metabolism

(2) Phagocytosis

(3) Emulsification of dietary lipids

(4) Carbohydrate digestion

Aggregates of lymphoid tissue present in the distal portion of the

small intestine are known as -
(1) Vill - (2} Peyer's patches

(3) Rugae {4) Choroid plexus.

Alzheimer's disease in humans is associated with the deficiency of :
(1) Gamma aminobutyric acid  (2) Dopamine

(3} Glutamic acid (4) Acetylcholine

7 1.0,



RET/16/TEST-B 642 /Medicine

26.

27.

28,

29.

30.

Difference between pulmonary artery and Pumonary Vein is that

pulmonary artery has :
(1) No endothelium (2) Valves

{3) Thicker walls (4} Oxygenated blood

Infection with which organism predisposes you for cancer :
(1) Hepatitis A virus (2) Human Papilloma virus

(3) Varicella Zoster virus (4) Hepatitis E virus

Which is not an indication of Genetic counseling ?
(1) Maternal age <35 year

(2) Consanguinity

(3) High risk ethnic group

(4) Family history suggestive of a genetic disorder.

Which of the following immunoglobulins does constitute the largest

percentage in human milk ?

(1) IgG (2) gD (3) lgM (4) IgA

Which is correct type of vaccine used in tuberculosis :
(1} Harmless virus (2) Inactivated toxin

(3} killed Bacteria (4) Harmless bacteria

9 P.T.O.
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31.

32.

33.

34.

35.

HIV infection is not transmitted by :

(1} Splash of HIV positive blood into the eve

(2) Necdle stick injury from infected patient
(3] Splash of HIV positive blood into intact skin

(4} Splash of amniotic fluid from infected patient in the oral mucosa

Commonly used vectors for human genome sequencing are :

(1) T-DNA (2) BAC and YAC
(3) Expressionvectors {4) T/A cloning vectors

Bielistics {gene gun) is suitable for :
(1) DNA fingerprinting

(2) Disarming pathogen

{3) Transformation of plant cells

(4} Constructing recombinant DNA by joining with vectors

Which onec of the following DNA will have the highest melting

temperature ?
(1) DNA with 15% guanine (2) DNA with 30% cytosine

{3)  DNA with 40% thymine (4) DNA with 50% adenine

During DNA fingerprinting separation of DNA fragments is done by :
(1)  Autoradiography (2}  Hybridization

(3) Denaturation (4} Elcctrophoresis

10
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36.

37.

38.

39.

40.

Multiple alleles are present :

(1) On non sister chromatids

(2) On different chromosomes

{3) At different loci on the same chromosome

(4) At the same locus of the chromosome

In a population of 1000 individuals 360 belong to genotype AA, 480

to Aa, and the remaining 160 to aa :
Based on this data the frequency of allela A in the population is :

(1) 0.4 2) 05 (3) 06 4) 0.7

The percentage of formed elements in blood is :

(1) 45% 2) 50% (3) 30% 4} 70%

Centromere is required for :

(1) Replication of DNA

(2) Chromosome segregation

(3) Poleward movement of chromosome

(4) Cytoplasmic cleavage

DNA elements which can swich their position are :
(1) Cistrons {(2) Transposons

(3) Exons (4) Introns

11 ) _ - P.T.O.
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Short Answer Questions

Note: Attempt anyv five questions. Write answer in 150-200 words. Each

Ol.

02.

03.

04.

05.

06.

07.

08.

09.

10.

question carries 16 marks. Answer each question on separate page,

after writing Question Number.
Life cycle of Leishmania donovana.
Highly sensitive C-reactive protein.
Restriction Fragment Length polymorphism.
DNA fingerprinting.
Stem cells.
Difference between RNA polymerase and DNA polymerase.
Massively parallel sequencing.
Meiosis-1.
Differentiate between linkage and recombination.

HLISA.

12
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21. Which part of the human brain is concerned with the regulation of

body temperature ?
(1}  Hyporhalamus (2) Medulla cblongata

(3} Cerebellum (4] Cerebrum

22. Which hormone is relecased by the neurohypophysis :
(1) Growth hormone (2) Adrenocorticotropic hormone

(3) Oxytocin (4) Prolactin

23. Which of the following increase the calcium level in the blood :
(1} Thyroxine (2) Calcitonin

{3) Parathormone (4) Insulin

24. Insufficient amount of antidiuretic hormone in blood leads 1o :
(1} Diabetes Mellitus (2) Diabetes Insipidus

(3) Glycosuria (4) Uremia

25. Eryvthroblastosis foetalis can occur if :
(1) Mother is Rh-ve and fetus is Rh+ve
(2) Both Mother and fetus is Rh-ve
(3}  Mother is Rh+ve and fetus is Rh-ve

(47 Both Mother and fetus 1s Rh+ve
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